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Question 1:  Solve the system of non-linear equations {

Answer: The solution set is

SS:{[&/ﬁ Nﬁij (3@ _S@i] [_3@ BJEiJ [_3@ _sx/ﬁi]}

13 13 13 13 13 13 13 13

3X*+2xy+ Yy’ =4
y+y for rational number

Question 2: Solve the system of equations
AX*+ xy+Yy? =4

ordered pairs.

Answer: SS _{(0,_2),(0,2),[\/g ﬁj ’ [ \ég \ég]}

3'3 )| 3" 3

Question 3: Thecircle x*+y*—2x =1 andtheline 2x+y =5 intersect at

3 19 3 19
A) e gj and (3, —1) D) (g Ej and (2, 1)
12 1 1 23
B) B E) and (2, 1) E) (E FJ and (3, —1)
C) % %) and (4, -3)

Answer: ss :{(% ,%),(2,1)}

Question 4: The number of intersection points of the graphs of the equation x*+y*=1 and
4x* +(y —3)2 =4 is:
A) 0 B) 1 C) 3 D) 2 E) 4

ANSWer: The graph has only one intersection point (0,1).

ss ={(2i2,-3),(-2iv2,-3),(01)]

Question 5: Number of points of intersection of the graphs of y = il and y= Ll IS
X+ X —
A) 0 B) 1 C) 3 D) 2 E) 4

Answer: SS = {(2,2),(3 : gj}

KFUPM, Math 002 Recitation 9.5, Term 151, Answered by Sayed Omar, 27-Nov-15



